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SA-ZE - SA(FAH) - NISAY - BES Oi &F2H N3 A Hlunsz
JIElolarer gt 30,189,979 45,009,217 214,819,238
= 418,400 418,400 0
= 32,250 63,547 231,297
Al 29,639,329 44,427,270 A 14,787,941
] 100,000 100,000 0
AFE D18 ZF (L2 2T /ABHHEA) 9,367,229 9,511,563 A144,334
ANE I8 =F 512,260 552,260 240,000
ANE D18 =8 283,160 323,160 240,000
201 23| 202,160 242,160 240,000
01 AtR2telbl 200,560 240,560 240,000
OXIHIIsLd J|gdstE 0 0 60,000 60,000
033712 \*x 2= N&
10,000,000 10,000 0 10,000
ORXFE3H 0l A AIEAD| IH=Z A
& 10,000,000& 10,000 0 10,000
AgzelsH 29 KA 8,804,969 8,909,303 A104,334
ANgz2te|sH 29 X 8,804,969 8,909,303 A104,334
308 AEXISHMSOIH 8,557,869 8,384,203 173,666
13 B 2SO Z A AEAISH 8,557,869 8,384,203 173,666
OAld2te|BH Z&k ASAIS]
8,557,869,000& 8,557,869 8,384,203 173,666
403 XIS HMSKHE0IA 247,100 525,100 A278,000
02 S| 2SUUEHAH 2R IS A | 247,100 525,100 278,000
OAld2te|BH T2 ASAISH]
247,100,000 247,100 525,100 A278,000
QIR (LSS A /UBIHA) 1,378,310 1,256,310 122,000
= 418,400 418,400 0
= 32,250 32,250 0
Al 827,660 705,660 122,000
CH 100,000 100,000 0
RIS RS 524,600 402,600 122,000
RESELESS] 272,800 150,800 122,000
207 A2 IH | 44,000 22,000 22,000
02 MAHE| 22,000 0 22,000
OQIRESIAI X 2| MatZmz1g
= 22,000,000& 22,000 0 22,000
301 LetENEZ 201,700 101,700 100,000
14 JIEI2 A3 201,700 101,700 100,000
oxg=s2 XA 100,000, 0002 100,000 0 100,000
HE (LB ST/ RNLHE - HEXIE) 958,504 877,508 80,9%
Har2d[s2] 958,504 877,508 80,9%
SENLHEAAL HHSPAIAE EH(XLH 2 80,9% 0 80,9%
3)
308 KXISHMSOIH 80,9% 0 80,99%
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SN - BE - SRA(SIH) - NIRAY - B2 0] a0t ol & o HimEE]
13 I 2SOt E & HAS ALZ | 80,9% 0 80,9%
OSBNLTNEAIAL HHZ DALY 25
80,996,000& 80,99% 0 80,9%
ollglgl(oiigibl/oliglgl) 3,375,000 3,252,900 122,100
L= 0 31,297 N31,297
Al 3,375,000 3,221,603 153,397
ollgl bl 3,375,000 3,252,900 122,100
T 0 31,297 A31,297
Al 3,375,000 3,221,603 153,397
ollgl bl 3,375,000 3,252,900 122,100
& 0 31,297 A31,297
Al 3,375,000 3,221,603 153,397
801 GildIHl 3,375,000 3,252,900 122,100
= 0 31,297 A31,297
Al 3,375,000 3,221,603 153,397
BB UERES 375,000 252,900 122,100
OURRES 375,000,000 375,000 252,900 122,100
= 0 31,297 231,297
Al 375,000 221,603 153,397
éﬂ;?—%%(?li‘@l&%‘%%)(%‘&*%%iﬂ’é/ll%’%"é - HEX 15,000,000 30,000,000 A15,000,000
LHEHH K= 15,000,000 30,000,000 A 15,000,000
LI Heh XI= 15,000,000 30,000,000 215,000,000
704 G2 15,000,000 30,000,000 A 15,000,000
01 GlIE= 15,000,000 30,000,000 A 15,000,000
OSEMEESI|Z HES
15,000,000,000& 15,000,000 30,000,000 215,000,000




